
Tmcqubucubpd Sdcerqbqa 28:
Ufd Xcabl ro Qmxvdse

Frxdirsn 26

Ceebaqdg rq Xrqgcj Gdldxvds 1eu

Gmd cu 12 qrrq Idgqdegcj Gdldxvds 3sg

Wydced emvxbu wsrvydx edue cu ufd dqg ro ufd sdydpcqu ydlumsd, rs ydcpd
bq ufd vrh ycvdydg TS28 rmuebgd ufd Xcuf Gdwcsuxdqu’e xcbq roobld, rq ufd
ufbsg oyrrs ro ufd Elbdqld Ldquds (Srrx 325).

Sdcgbqa:

Asree-Fcssbe, Lfcwuds 21

Wsrvydx:

Wydced dhwycbq jrms sdcerqbqa cqg efri jrms irsn.

1. Lrxwmud ufd edpdquf srru ro orms (xrgmyr dbafuj-obpd).

This assignment is written in a substitution code. Translate it, and solve the

problem.


